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QUESTION 1

What are two advantages of a point-to-point OSPF adjacency? (Choose two.)
A. Only a DR is elected.

B. No type 1 LSAs are generated.

C. No type 2 LSAs are generated.

D. There is quicker neighbor establishment.

Correct Answer: CD

QUESTION 2

Which two characteristics are true for EBGP peerings? (Choose two.)
A. EBGP peers must be directly connected.

B. EBGP connects peer devices in the same autonomous system.

C. EBGP connects peer devices in two different autonomous systems.
D. EBGP peers can be connected over a multihop connection.

Correct Answer: CD

QUESTION 3

Which two statements about DHCP snooping are correct? (Choose two.)

A. DHCP snooping inspects all DHCP packets on untrusted ports.

B. By default, the Junos OS treats access ports as trusted and trunk ports as untrusted.
C. DHCP snooping uses ARP to add statically defined IP addresses to its database.

D. The DHCP database maps IP addresses, MAC addresses, and the associated VLAN.

Correct Answer: AD

QUESTION 4

Click the Exhibit button.
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userf@router> show route 11.0.0/24
inet.0: 128 destinationa, 173 routes (128 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Active, * = Both

11.0.0.102/32 “[I8-I8/18]) 3wld 01:23:29, metric 15
to 11.101.102.2 via ge-0/0/5.0
> to 11.111.112.2 via ge-0/0/6.0
11.0.0.108/32 “[18-I5/18] 3wl0d 01:23:29, metric &5
> to 11.101.102.2 via ge=-0/0/5.0
to 11.111.112.2 via ge=-0/0/6.0
11.0.0.109/32 “[Is-I8/18] 3wld 01:23:19, metric 75
> to 11.101.102.2 via ge-0/0/5.0
to 11.111.112.2 via ge=0/0/6.0
11.0.0.199/32 “(18-18/18] 3w0d 01:23:16, metric 65545
> to 11.101.105.2 via ge-0/1/1.0

userf@router> show route fcrwnrding-tabla
Routing table: default.inet

Internet:
Destination Type RtRef Next hop Type Index NhRef Netif
11.0.0.102/32 user 1 ulst 1048588 1é
11.111.112.2 ucst €95 6 ge-
0/0/6.0
11.0.0.108/32 user 0 ulst 1048588 16
11.101.102.2 ucst €58 6 ge-
0/0/5.0
11.211.312.2 ucst 699 6 ge-
0/0/6.0
11.0.0.109/32 user 0 ulst 1048588 16
11.101.102.2 ucst 698 & ge-
0/0/5.0

Referring to the output shown in the exhibit, which statement is correct?
A. 11.0.0.108/32 is being per-flow load-balanced

B. 11.0.0.102/32 is being per-packet load-balanced

C. 11.0.0.102/32 is being per-flow load-balanced

D. 11.0.0.108/32 is being per-packet load-balanced

Correct Answer: D

QUESTION 5

Click the Exhibit button.
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R1 (RID: 10.10.10.1) R2 (RID: 10.10.10.2)

DR BDR

DROther DROther
R3 (RID: 10.10.10.3) R4 (RID: 10.10.10.4)

You have configured OSPF routing as shown in the exhibit. You notice that all interfaces have formed full adjacencies,
with the exception of the interfaces connecting R3 and R4 with a status of 2Way.

What is the reason for this status?

A. The two routers must both be configured as DR routers.

B. DROther routers will not form a full adjacency with each other.
C. The two routers must be configured in different areas.

D. The interface-type is not configured as p2p.

Correct Answer: B
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